ATP Rear Billet Grab Handles (07-17 Wrangler JK)

Installation Time: 20 Minutes

Tools Required:

10mm socket

H5 socket or 5mm hex key
H6 socket or 6mm hex key
Ratchet

PwnNPRE

Installation Instructions:

Identify all parts needed for installation in (Fig. 1)

Mounting Bars

M8x1.25x25

M8x1.25x25 ———— v i
I

M6X1.0X6$ - -

M6x1.0x65

Spacer Tubes

Driver/Passenger Handles

(Fig. 1)



1. Preassemble both handles using the driver/passenger handles, mounting bars, and the M8x1.25x25 bolts with
an H6 socket or 6mm hex key (Fig. 2).

(Fig. 2)

2. Remove the two factory 10mm bolts from the sound bar with a 10mm socket and ratchet (Fig. 3).




3. Begin installing the handle using the M6x1.0x65 bolts, spacer tubes, and an assembled handle with an H5 socket
or 5mm hex key (Fig. 4 & 5).




Enjoy your new ATP Rear Billet Grab Handles

Installation Instructions Written by ExtremeTerrain Customer Marshall Williams 07/5/2017



